Multciplication: Regrouping

1 First, multiply the 5 1 Next, multiply the 5 by the 1 in 1 Finally, since the number is

12 5 by the 2 to get 10. The 12 the tens place to get 5. Add the 12 under 10 and does not need

X 5 number 0 is left below -(_ 5 1 you regrouped to get 6. X 5 to be regrouped, write the 6
and the 1 is regrouped —— = below in the tens place.

0 in the tens place. 0 60

Multiply the problems below.
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Mulciplication: Regrouping

First, multiply the 5 Next, multiply the 5 ones by 22 Finally, add the number 2 in

2 22
55 5 by the 5 to get 25. The 55 the 5 in the tens place to get 55 the hundreds place above to
X 5 number 5 is left below X 1_ 5 25. Add the 2 you regrouped X 5 the hundreds place below.

— — — andthe2isregrouped to get 27. The 7 is left below in
5 above in the tens place. 75 the tens place and the 2 is re- 275
grouped above in the hundreds
place.

Multiply the problems below.
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